(1,1,1)
(1,1)

,1,0)

(0,0)

0 13: 2000000 A2,3000000 A3

gbobooooboooooboobobooooobobooooboobon

34 0OQ0OoOoog
X00OOooooooooooooo Ao
Ak:{(xl,...,xk)eRk|1§x1§...2xk20}
goooooon

00 341 0000¢:AF — X0 X0 kOOOODDOOOODDO &
00 (singular k-simplex) 0D 00X 000 EO0000O0O0O0O0OOOOO
S,(X)YODOOOS,(X)0oooO0O e=>Y a0 0000kO0000O00OO0OO
000000 k0000 (singular k-chain) 000000

X00OOO0ODO00O0O0AO0ODOD0OD0O00000000000000%00
0000000000X00000000000000000000000
000000 kD000 A*0000000000000 k-1000000
O000D000000000000 Sk(X)— Spy1(X)0ODODO00000
0oo0oo0o000og

i=0,...,k00000¢:A1 —- A*0D0D0D000000 14000

50(.%']_, v ,{17]@7]_) = (17*%.17' .. 7:171671)7
51’(371’-”71%—1) = (xl,...,xi,xi,...,xk_l) (0 <1< ki),
ek(xl,...,xk_l) = (1‘1,...,$k_1,0)

7
gi: A1 — APOODD0D0O0Ow = » e; 00000¢(v) =
j=1

Ve (E < Z)
0ooooooo
Vet1 =)
k
00 kDO o: A" - MODO 900 do=)» (~1)oog; 00000

i=0
goo

000000000000000 8: Sk(X) — Sp_1(X)0000000

0003420 0<i<j<k—10000go0e =ejq0e 0000
Skoa(X) 2 Sp 1 (X) «2 S (X) D000 908=00000

00 34.3 000000 S(X)00000000000000000000
H.(X)0OoO0OO

89



(1,1,1)

(0,0)
0 14: €0, €1, €2, €3 : A2 — AS
(1,1,1)
(1,1)
€1
3 €0 =€10¢&p
€0
Eoy 1 e 7170)
(00) """" 02&2|=€30¢&0

O 15: gjoej =¢jp106, (0S50S j<k—1)
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000 (X,A)00000,000000 S5,.(4), S.(X)0000oooo
S,(A)0D0S(X)0000000000000Sk(X,A) = Sk(X)/Sk(A) D
000S(X,A) 00000000000

00 344 000000 S¢(X,A) 00000000000 (X,A) 0000
000000000 H.(X,A)O0O000

000000000000 0 — Sp(A) —= Sk(X) —2 S,(X, A) — 0
000000D00000000000000000

34.1 U00O0OO0OO0OOO0OO0OO0OOOOOO0O00

[ X —Y, fi:8.(X)— S.(Y)D S(X)DDO0O0o: A — X0OO
00S(Y)ODOO fuo)=foc 0000000 OOOODODN

E

O(fs0) =0(fo0) =, (—D'(foo)oe;

K3

= |l
[en}

(-1)'fo(ooe)
0
k

L0 (-1)r o) = £.(00)

i=0

o
I

I
~

0000f00000000000000000 f,:S.(X)— S.(Y)OO
000000000 f,: H(X)— H(Y)00OO0DOO

0000000000 f:(X,A) —(YV,B)DOOODOO0OO fu: S«(X,A) —
S.(Y,B)00000000000000 fe: H(X,A) — H.(Y,B)OUODO
ggd

o:AF - X, f: X —Y,g:Y — Z0O00ODOOO(gof)oo =
go(fog)DDDODODODOODODO fi:Su(X) — Su(Y), g : Su(Y) — Su(2)
(gofle: Su(X) — S(Z2) 0000 (go fle = g0 fL 00000000
0000000000 f : Ho(X) — H(Y), g. : H.(Y) — H.(2)
(gof)s: H(X)— H.(Z)DUOOUO(go f)s=g«0 f 0000

Ooo0oooooo (X,A4),(Y,B), (Z,C)00000000000000O
gooooo

goooobobbobobobooooooobobooboboo

00000000 {p}00000S{py) 220000000000 ¢:
AP — {p}0O0ODO

S.({p}) : 06— 28 & zel Lz 2

d:Sk({p}) — Srk_1({p}) DO

k k
7 0 (k00ODDOOD k=0)
Ol =Y Fog =) k=
P ;p ;p cht (kO 200000)

000000000:Si({p}) — Sk—1({p}) 00kDDOO0OO k=000
000000k02000000000000000000008H({p})
Z (k=0
{o (k # 0)

good
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34.2 0OU0O0OU0O0OOO0OOODOOOOOOO
0000 KODOO |K|DOO00kOO (v---v) 0000000 AF —

K|0DA*0D00 ) ¢ 0 |K|0D»,000000000000000
j=1
<Uo-~-vk>€Sk(|K|)|:||:||:||:|
k

0,1]xA* 00000 K qxar D000OPAR = (=1)" (- vfv} - -v}) €
1=0
Spi1([0,1]x A DODOA* € Sp(AMDODDO0 idy D00O000D0
k

000 ida D0000idar = Y i € Sk-1(A*) 000D (IP+ PO)id e =
=0
ih—i 000000004 = (0g---vl), io = (@3---0?) O {0} x A, {0} x A

0000000000

00000000000 fo~fi:X —YOOOOF:[0,1]xX —Y
0f0A0000000000000:A% —X0000(fo)wo = fooo,
(fi)eo = fioo € S(Y)DDODODODODOD

PF(U) = F*(id[g,l] XU)*PidAk
gooo
PF(O' @) 61') = F*(id[o,l] X(O’OEZ‘))*PidAk—1 = F*(id[oJ} XO’)*Pt’ii

gbooobood

k
0Pp(0) + Pr(d0) = 0F.(idjg 1) x0). Pidar +Pr(D_(—1)'o 0 ;)
1=0

= F*(id[g,l] XU)*(apidAk) + (—1)1F*(id[071] XU)*PEZ‘

k
i=0
:F*(ld[(),l] XU)*((8P+P8) ldAk)
:F*(ld[O,l] XO')*(i]_ — Z())
=fioco—fooo

= (f1)s0 = (fo)so

34.3 U0O0OOOOO0OOOODOOO

X=X,UX,, X;,X,00000000X,=X,nX, 0000000
000 iy : S.(X1,X12) — S.(X,X,) 000000004 0000000
000 i, : Ho(X1,X12) — H.(X,X,) 0000000000000000
00000000000000000000000000

0000000004, : Cu(Ky, Ki2) — C.(K,K,) 0000000004,
00000000000000000000000000000O.: AF —s
X0O0X, X,000000000000000000000000000
roi, =idg,(x,,x1), 1«07 0 idg,(x, x1,y 0 000000000000000
0000000 r:S.(X,X,) — S.(X1,X2) 0000000000000

00000000 3220 bsd, BSDOOOOO0OOO0Ob, € c0000
bsd(idar) € Si(A), 00 0BSD(idx) € Sp1(A) 00000

c:A*" — X000O0ecO000000 bsdo =0, bsd(idye) 000000
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AF0DO0 {o71(X1),0"1(X2)} 0000000000000000O0 m
0000 bsd"e 000000000 X3 000 X,O0OOOOOOOOO0OO
oo 0000000 m, 0000

Ac =BSDo +---+BSDbsd™ o000 0O

0Ac + Ado +0c 0000000000 X, 000 X, 000000000
0000 -0 X, 000 X, OOODOOOOOBSDrOOOOOOOOOO
X, 000 X, 00000Odr<cOdO0O0O00Om,<m, 0000

0Ac + Ao + o =bsd™ o
k
+3 (=1)*(BSDbsd™?" 9;o + - -- + BSD bsd™* " 9;0)
=0

obooooooobobobooboboXx, 000 X;OobOoooo
000070 =0Ac+Adc+0c 00000000000

d(ro) —r(0o) = 0(0Ac + Ado + o) — (0A(Do) + AD(0c) + 0o) =0

000000r000000000000000 X,0000000m,=0
0000ADOOODOOr 04, =idg, (x,.x1,) 00000004,07(0) —0 =
dAc + A9 000 Oi.or D idg,(x,x,000000000000000
00006, : Ho(X1,X12) — H.(X,X;) 0000000000000
ooo
000000000000000000000000000000000
000000000000000000000000000O0O0000

0 —— S*(Xlg) L) S*(Xl) L) S*(Xl,Xlg) — 0

l ! !

0 —— Su(Xs) —= S.(X) —L 5 S(X,Xs) —— 0
000000000 00O0000DO0O

o
Hi(X1,X12) —— Hip—1(X12)

l !

3]
Hy(X,X2) ——— Hp_1(X2)

35 Oo0noon

000 34.200000<i<k0<j<k—10000 g0e;00000e;0¢:
'

Ak*QHAkDDDDDDDDDW:Zem[I[I[I[I[I
m=1
Ve (£ <)
1<70000(e;0g5)(ve) = {WH (sl <y),
vera (J24)
Vg (€ <3j)
j<i0000(g0e5)(ve) =< ver1 (JEL<i+1)
Vo4-2 (Z-i—].gf)

O0000000:£j0000¢;0e5 =¢j4106, 0000

= Z (—D)"ooe0e; + Z (—D)"ooeg0e;

0<j<i<k 05i<j<k—1

= > (DMooeiogi+ Y (-1)Tooeoe=0

0Sj<i<k 0Si<j<k-—1
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